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< 10,000
Al 10,000
402 RI2EX=20| A 72,000 40,000 32,000
= 27,000
Al 45,000
02 QI EAILSEZ (01X THS) 72,000 40,000 32,000
ORNzYM SEHYSS 29N
50,000,000& * 1 2= *80% 40,000
< 15,000
Al 25,000
OsENE &8l MEAY
40,000,000& * 10 2= *80% 32,000
< 12,000
Al 20,000
sSENHE2LMEXNLEAEY 50,000 50,000 0
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SIS HIE
=EXE
eSS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
e 25,000
Al 25,000
307 glz2tol & 5,000 10,000 A5,000
s 2,500
Al 2,500
02 It M AHE X 5,000 10,000 A5,000
OsE02d =X0te 84
5,000,000 » 104 2 5,000
as 2,500
Al 2,500
402 RI2EX=20l M 45,000 35,000 10,000
s 22,500
Al 22,500
02 LA THEALEZ(0IETHR) 45,000 35,000 10,000
OsE0z2d sXadENsS E4
45,000,000 =10 2 45,000
s 22,500
Al 22,500
M2 325,371 584,798 A 259,427
= 55,000
s 83,000
Al 187,371
A4 gkt st ot 10,680 10,024 656
101 @14 Hl 6,680 6,024 656
04 DI Z2XREE S 6,680 6,024 656
OMg st 24 66,8002 x100 1 6,680
201 L2l 500 0 500
01 At 2t 2l 500 0 500
Odgnsra 24 500
206 M= Hl 1,500 4,000 A 2,500
01 MZ 4l 1,500 4,000 A 2,500
OMausrat 28 WEI=Hl  150,000& 102 1,500
301 et d s 2,000 0 2,000
12JEEd= 2,000 0 2,000
Odansrat 28 WK LAY
200,000& =103l 2,000
S&SItsus4H 40,491 37,574 2,917
101 @14 Hl 14,831 13,374 1,457
04 JIZHHZ2XNESE S+ 14,831 13,374 1,457
OstElIZunsHdEH2Y JI2tH 2l 14,831
Ry 66,8003 x 1 +183& 12,225
Fe4 66,8003 1 392! 2,606
201 L4l 12,700 12,200 500
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A sgI=HH
MY =ENE
ool MBRRSY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 AP 22| H| 3,100 2,600 500
ONEBLd=2 ¥ XIS es 400,000 43| 1,600
OAHZE AEIH HZE 500,000 =14l 500
OsdESII2uURAH 29 1,000
02 2324 9,600 9,600 0
OsSHEINZNESHYH SEIIYU (MU AGH, SHY
) 2,000,000 14! 2,000
Osi2IISUsHEH AIEEH KX
5,000,000 =14l 5,000
OSASIIZ2NEHE SEFU(ESR)
1,300 «2,0002| & 2,600
206 M = dl 5,000 7,000 A 2,000
01 X2 bl 5,000 7,000 A 2,000
OSASIHZME ZTE2)| (K28, LX) 2
o 1,000
OsdE JI2 Mg #7¢ 4,000
207 A OH 4| 5,000 5,000 0
03 A& A 32H| 5,000 5,000 0
OsAE2 AEHPH (M, F=A 29) 5,000
301 LBt A= 2,960 0 2,960
09 SHAIAHI B A2 960 0 960
OztHAEB N FALX B4
8,000 *30H *4 3| 960
12 JIEtE A= 2,000 0 2,000
OXHDEEE NN dAEE 200,000& =103/ 2,000
aagazsy 8,200 8,200 0
206 M = 4l 3,000 3,000 0
01 X2 bl 3,000 3,000 0
OXeg=2 & sa=2I2 U1 Mg 7
300,000 =103l 3,000
301 et A= 5,200 5,200 0
09 HAIAHI BEAZ 3,200 3,200 0
OXe=2 o SA2IH2 s AT B4
8,000& x40 103l 3,200
12 JIEtE2 A= 2,000 2,000 0
OXe=2 U SASIH2 WS QL ASE
200,000 =103l 2,000
SHEXNE S& At A& 40,000 24,000 16,000
Fag 25,000
Al 15,000
402 SI2F X201 & 40,000 24,000 16,000
Fag 25,000
Al 15,000
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A sgI=HH
M =E2FE
G MEXd (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 2,500
01 X2 H| 5,000 5,000 0
OXAYEY SABNT EES NA(MNUE
AMAHTHE 2) 500,000 x10= 5,000
g 2,500
Al 2,500
307 2iz2to| A 16,000 15,000 1,000
= 8,000
Al 8,000
02 QIZIA AAIE E X 16,000 15,000 1,000
OSE0i4 HEEs BX7 N
16,000,000 « 1Al 16,000
o 8,000
Al 8,000
401 AlEHIZ £ 0HY| 20,000 20,000 0
Fag 10,000
Al 10,000
01 Al&H| 20,000 20,000 0
OXNYYEEs SAEINZE B3 A (A2
A S LS5 AY BE) 10,000,000 x2A! 20,000
g 10,000
Al 10,000
405 XHAHFI S HI 10,000 20,000 A 10,000
Fag 5,000
Al 5,000
01 XAt 2 Z F S| 10,000 20,000 A 10,000
OXNYYEEs SAEINZE B3 N (sHIEE
A= ZH RY) 2,500,000 4= 10,000
Fag 5,000
Al 5,000
59 AJlE A (MERR) 60,000 50,000 10,000
= 30,000
Al 30,000
402 SI2FXHE0| M 60,000 50,000 10,000
= 30,000
Al 30,000
02 CIZEXIEAIS X (0| XM THL) 60,000 50,000 10,000
OF=ZE HXEXJl= AlEY 60,000,000 =10 A 60,000
= 30,000
Al 30,000
MAEAB R 2| ST (M) 50,000 0 50,000
Fag 25,000
Al 25,000
402 SI2FXHE0| & 50,000 0 50,000
g 25,000
Al 25,000
02 QX2 A E X (0| ETHS) 50,000 0 50,000
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2N
X ZH -
L= B

el

0z OF OF
w0
o oo
rx
m

M9

Mo
02

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNGEMSY L2 ASALY
50,000,000 =14 2 50,000
s 25,000
Al 25,000
sIAH2E 1,667,813 1,229,579 438,234
= 8,500
< 26,923
Al 1,632,390
SO H S A 1,492,744 993,899 498,845
101 @124l 347,284 177,739 169,545
04 JIZHHZ2XNESE S+ 347,284 177,739 169,545
O mI=H & f4x=H 3,000
o=l 250,000& x12H 3,000
OsJ1H LA 2 JI2tH (Jls) 22l 192,780
2 85,0003 248 «6H 126,480
T4 85,0003 x52 «6H 26,520
sL2RHE 85,0003 *1. 56 x52 ! «6H 39,780
OsJ1H LUHAIS 2 JI2tH (LeH) el 151,504
o 66,8003 x248 x6H 99,399
T4 66,8003 x52 +6H 20,842
e =] 66,8003 *1.581 x6H x52 31,263
201 L2l 108,760 91,160 17,600
01 At 22l 25,500 25,500 0
OsJ1H LAY At 22|l
5,000,000 «4 4 & 20,000
OZUAY 2 2+ ¢ 500,000& x11& 5,500
02 =24l 83,260 65,660 17,600
OgUi=sJIH Eg= 23,000
OUUAMSE A HE 2| 800,000 =44 A~ 3,200
OYUAIE A EIIAIEZ 1,700,000& »12& 20,400
OsJIAH XHE(8d), ZElI(5H) 282 L KX
22| di 28,500
OLUsIAH 27 L (FR)
1,400 *1,0002| & *44 & 5,600
OUsIH =7 L (LK)
1,600& *4002| & *44 & 2,560
206 T2 HI 180,000 150,000 30,000
01 =8l 180,000 150,000 30,000
Ooglislld=e 835 #
200,000& 6000 1.53] 180,000
405 THabH S| 856,700 515,000 341,700
01 HatH ESFH S 856,700 515,000 341,700
Ouzeis 20 & D& =sIIH UM 2 600,000
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AN sg€II=4dH
Hu: sEFE
o9l SNy SEED)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
O&HlE1 ols -
3,500,000 =404 2~ 14,000
O sJIAH 8 )
1,210,000& 70K 84,700
O s3I 300,000 *4H 2 1,200
O XA XH(3.38 2 44,000
O detedl 2,800
O HHE 2lZ (SR, ALOH)
15,000, 000& »2CH 30,000
O 58 212 NSAC2l &1 251
80,000,000 = 1CH 80,000
SIHHLUHAIS A FHUI A XA 89,769 86,100 3,669
= 26,923
Al 62,846
405 RHoHE S HI 89,769 86,100 3,669
= 26,923
Al 62,846
01 et EZFH S 89,769 86,100 3,669
OLF&Hl UMY ((2E 404) 89,769
< 26,923
Al 62,846
JIAH MBI AZ S 18,300 17,780 520
101 @124l 15,300 12,780 2,520
04 JI2ZtHZ22HEE = 15,300 12,780 2,520
OsJIH &3l+el 22| 85,000& 180 15,300
206 M= Hl 3,000 5,000 A 2,000
01 =8l 3,000 5,000 A 2,000
Ozsl+el8 sIIH 2372 5,000&+600& 3,000
JIHEE AL 50,000 45,000 5,000
301 LEtE A= 50,000 45,000 5,000
12 JIEtE4 S 50,000 45,000 5,000
OsJIHDK (A4S AEIIHHGHS DS S)
HOotE 4 400,000& *100H *50% 20,000
OESLHME <Ist E2u|H|
3,000,000& 20X x50% 30,000
SIH dwE X2 17,000 18,000 A 1,000
2 8,500
Al 8,500
201 L2l 1,000 2,000 21,000
= 500
Al 500
01 At 22l 1,000 2,000 A 1,000
OsJIH N8 U 29 100,000& 103 1,000
= 500
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2N
X ZH -
L= B

el

M e
=
[na)

=R

O O OF
™
Ho olor >

S
=

08
m
4
[P
10

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

Al 500

202 Oddl 1,000 1,000 0

= 500
Al 500

01 SLHOYI 1,000 1,000 0
OsJ1H &¢&0l& W= 048l 100,000& =10 1,000

500
Al 500

W

206 M= Hl ,500 5,000 500
. 750

,750

H

Al

(G2 BN\ SN G) ]

01 M= dl
OsJIH ¢d0lE W= M=
220,000& 258 5,500

. 750
Al 2,750

,500 5,000 500

W
S

301

e
s
HL
0z
oy

9,500 10,000 A 500

4,750
Al 4,750

H

09 BAMAHIEAS 8,500 9,000 A500

OsJI &&E0l8 us 2L

20,0003 »425% 8,500

4,250
Al 4,250

12IIEtE 4= 1,000 1,000 0

OsJIH &0 W=s 2A+E

0

H

200,000& *52] 1,000

500
500

= H

o
024
paa
{0
~

,850,541 6,064,839 1,785,702
1,563,065
504,500
120,000
5,662,976

= M

I
W
o
0
no

,860,553 1,816,743 1,043,810
189, 165
50,000
60,000
2,561,388

= N

NSENML 40,616 51,229 A 10,613

101 1Al 8,016 7,229 787

04 DIt 22 XS+ 8,016 7,229 787
Obl E3E Hlw AIEE 2% A2 () 8,016

E 6,680

=g 66,8003 x20 1 1,336

o

o
0q
»
>
©
S
S
o

*
)
S
e

*

Mo
0

N
2
ne
s
M0
02

s

2,000 2,500 A 500




5 - 4
E - G2 (3) - A - BES 0l &t o8 il HlnE2
At 2t el | 2,000 2,500 A 500
OaazE s ¥ WM M 500,000 *4F 2,000
A 2O 2B 27,100 13,500 13,600
A& A 27,100 13,500 13,600
OH S3E Hluw AIge Mg #2
450,0003 x 105 304 & 13,500
Ol "ols 28 2 13 Mol 4SAE
400,000& *2ha* 174 2 13,600
QoS a3 3,500 3,000 500
09 HALAHIEA S 3,000 3,000 0
OMgRE DS BARNS
15,000 *200H » 13| 3,000
12 JIEtEA& 3 500 0 500
ONSEZE s A=Y 250, 0003 *23| 500
HolESSEHI =X 2,116,080 1,474,560 641,520
402 RI2EXt20l ™ 2,116,080 1,474,560 641,520
01 212t 2 AL E = (REM ) 794,970 803,610 A 8,640
Obf gHaolls MEYR (SR MelMd) X
180,000& %8, 833na*50% 794,970
03 BIZHR[EF AL HI 1,321,110 670,950 650, 160
O dolls &32H XA 1,321,110
M &M ¥ ZHH XA
180,000& %13, 980ha*50% 1,258,200
SZEHM 249H K&
90,000& *13,980ha*5% 62,910
et sdisa 71,541 69,453 2,088
101 14 Hl 20,041 17,953 2,088
04 JIZHHZ2XRHEES 20,041 17,953 2,088
OBEIISASY (BTN AHYSHA 5)
ol 20,041
o 66,8003 x248 x1H 16,567
Fed 66,8003 x52 «1H 3,474
201 Let249] 19,500 19,500 0
01 At 22/l 1,500 1,500 0
OZs8TATESINH ZEIsH 2=
- 150,000 108 1,500
02 3323l 18,000 18,000 0
OZgllss |RANE=H 900,000,000 *2% 18,000
A2 2 HI 32,000 32,000 0
03 A& 224l 32,000 32,000 0
OELZIAM2Y ANEHT a7
8,000& x1,875& 15,000
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SN 5| SUE
I I A
ool e (29l 8)
. o
SA-EH A (SA) - MRAE - BES Off &k 24 %I&ﬁ Husz
-/

45,0003 #2005 9,000
OXZZE & T 248N & WE
(2,0002 *500& )+(200,000% 253 ) 6,000

OYHBHEE L MSa Al 2 HE

100, 0002 *4%5 +53] 2,000
AYRZ2O0HAIY 160,000 33,200 126,800
= 60,000
Al 100,000
402 QIR TH2 01 & 160,000 33,200 126,800
= 60,000
Al 100,000
02 QAR E2AL 2T (01 M) 160,000 33,200 126,800
O#AHl =X 243 A
100,000, 000! %274 £ +80% 160,000
< 60,000
Al 100,000
S Dl ALY 312,000 0 312,000
(st283)
= 156,000
Al 156,000
402 QIR H2 01 & 312,000 0 312,000
= 156,000
Al 156,000
02 BIITHE A SR E (01 TH &) 312,000 0 312,000
O FTAUIS Bl ERD33s L MBI S AL
00,000,000} *17H A 200,000
= 100,000
Al 100,000
O 2RSS BWAAY A
100,000,000% *17 £ 100,000
= 50,000
Al 50,000
O NEBZE X XJ| 201 23 N
12,000,000% 14 12,000
= 6,000
Al 6,000
SellsHlH SEEAN 29 N (ZY)(HE) 30,000 29,000 1,000
= 15,000
Al 15,000
101 Q121 b 24,717 22,170 2,547
= 12,358
Al 12,359
04 JIAH22NSE S 24,717 22,170 2,547
O sa=sa Zel2y 22y 24,717
g 66,8002 2482 * 1% 16,567
= 8,283
Al 8,284
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SN HH-S(BN) - MBAY - B il HlnE2
F=5=g 66,800 x52 x1H 3,474
= 1,737
Al 1,737
ER=s 66,8003 x70 «1H 4,676
= 2,338
Al 2,338
201 £B-2dH| 283 2,000 A1,717
= 142
Al 141
01 At 22l 283 2,000 AR IVAYS
O ZSEg=484 2e2d MREE 72
56,6003 x53| 283
= 142
Al 141
405 XHoHF S HI 5,000 0 5,000
= 2,500
Al 2,500
01 XY 2 Z F S| 5,000 0 5,000
O AsE=x) #d 5,000,000 * 13 5,000
= 2,500
Al 2,500
NEZ dHFHXA 6,015 0 6,015
= 6,015
206 2 I 6,015 0 6,015
= 6,015
01 = tl 6,015 0 6,015
ORALASSEIAEN ELEA HE ¢ 6,015
ELHAT A 100,000& » 155 *33| 4,500
= 4,500
ELAMMET Y 208 1,515
= 1,515
N2dis 22X 29 N2 6,300 6,300 0
= 3,150
Al 3,150
206 24 6,300 6,300 0
= 3,150
Al 3,150
01 MHZ 4l 6,300 6,300 0
Oddls 22X 22 Mz
63,000& x100& 6,300
= 3,150
Al 3,150
EYNE A 2E AR 18,001 18,001 0
= 9,000
Al 9,001
101 14l 16,233 14,639 1,594

- 514 -




AN sg€II=4dH
PSR B PSON R
el N2E (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 8,116
Al 8,117
4 D12t Z2 RS2+ 16,233 14,639 1,594
Odaisdts 2228 g2 16,233
2 66,8002 *200 1 13,360
= 6,680
Al 6,680
=54 66,800 x43 »1H 2,873
= 1,436
Al 1,437
206 = Hl 1,768 3,362 A 1,594
2 884
Al 884
01 M2 4l 1,768 3,362 A 1,594
Odolls I 29 HE2Y(AY)
88,4003 x205 1,768
= 884
Al 884
ANAEAGESIEBIEL (H2) 100,000 100,000 0
s 50,000
Al 50,000
402 RI2EXt20l ™ 100,000 100,000 0
s 50,000
Al 50,000
02 2IZt 2 AL EZ (OIS ) 100,000 100,000 0
O=U=S4EE & N9 Sl S4dAd
100,000,000 * 10 A 100,000
s 50,000
Al 50,000
HWAI=2d 542,920 895,500 A 352,580
= 77,500
s 22,500
< 25,500
Al 417,420
MWaadl=E= 266,920 267,500 A 580
301 et a s 1,920 0 1,920
09 HALAMHI B A S 1,920 0 1,920
OIDEw =&=g02 A2us AT B4
8,000 x120H 23| 1,920
402 RIZER201 A 265,000 267,500 A 2,500
01 U2 EALE X (KA ) 265,000 267,500 A 2,500
OBALEH 88 2AUY ALY ISAY
8,000, 000& 109 2 *50% 40,000
O1N2) SME SEESY WX J=ES
5,000, 000& 109 2 *50% 25,000
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AN seIIsHE
3N J¥NE

Sel: Az CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONEEH o2 CJIE BMTN 28 NE
400,000,000& » 1+ Xl «50% 200,000
=g ddl= MY 155,000 210,000 A55,000
(M)
2 77,500
Al 77,500
402 RIZ2FXt20l ™ 155,000 202,000 A 47,000
= 77,500
Al 77,500
02 QAT AL 2 X (O H T ) 155,000 202,000 A 47,000
ODME AES WUHX B2 WIS MY
80,000,000& »1&H X 80,000
= 40,000
Al 40,000
O 22&Z HOIHIIE ADE LHISAIEH
40,000,000& »1&H X 40,000
= 20,000
Al 20,000
ONETBIX SREH HZSIs LHOIEH &
2lleE=2 35,000,000& = 1EH X 35,000
= 17,500
Al 17,500
WA ASHS2O0MAIE 68,000 72,000 4,000
< 25,500
Al 42,500
402 RIZEX201 A 68,000 72,000 A 4,000
< 25,500
Al 42,500
02 LA TEALEZ(0IETHR) 68,000 72,000 A 4,000
OLNEE 2 IR MAAE
35,000, 0002 *1JH 2 x80% 28,000
< 10,500
Al 17,500
OAETA THHHEE HE A
50,000,000& » 1+ XI *80% 40,000
< 15,000
Al 25,000
NEsHES SRS (ML =) 45,000 140,000 A 95,000
as 22,500
Al 22,500
402 RIZEX 201 A 45,000 130,000 A 85,000
as 22,500
Al 22,500
02 LA TEALEZ(0IETHR) 45,000 130,000 A 85,000
Oz ed AL Seael 8o =4
25,000,000 = 1&H X 25,000
s 12,500
Al 12,500
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AN seIIsHE
3N J¥NE

2 A =29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ODILITHA THEHD | &= S &A= AlY
20,000,000 x1EHX] 20,000
Fag 10,000
Al 10,000
ADNEYGsXNE HAHZRS 8,000 0 8,000
201 gBt24d| 6,000 0 6,000
02 =224 H| 6,000 0 6,000
OAE=SY HAEHE WEE U XM (A
H 22|, MAZH 2L, AHUYAIZRZ)
500,000 =120 & 6,000
405 XHAHFIEHI 2,000 0 2,000
01 XA 2B F S| 2,000 0 2,000
OANE=sY HAHWHE NS MAEH P2
500,000 4= 2,000
ESPNROR=E= 268,336 333,961 A B5,625
MIISASAIEE 77,260 69,797 7,463
101 Q124 H] 29,660 26,747 2,913
04 JI2ZtHIZ2 2 NEES 29,660 26,747 2,913
OARASHH MZHAE A J|2EH ©1 24 H] 29,660
=y 66,8002 183 2 H 24,449
5 66,800& *39L x2H 5,211
201 gEt24A Y| 19,100 14,550 4,550
02 B32ZH| 19,100 14,550 4,550
OMNZRE MADIBE Al =2 & SXH(F0HE
ME, REH LA H2MHE1D) 12,000
1,000,000& 120 &
OMZ NEBEH, 8% BUSX 24
500,000& 10 5,000
QOAZSANEZ 29 871U (ER)
1,400& »5= *3002| & 2,100
206 M = dl 28,500 28,500 0
01 =4l 28,500 28,500 0]
AZ NEEE 29 I P (45717 0I%
M, s HZ) 750,000& 10 7,500
OMSICHH M2 M8 4EDQ
7,000 3,000 21,000
Z EHY 2k Al 10,016 8,024 1,992
101 21 214| 8,016 6,024 1,992
04 JIZtHI22XNSE S 8,016 6,024 1,992
OXAHLASH ol 2AHH| 8,016
Gt 66,800& x120 «1H 8,016
206 M 2 d| 2,000 2,000 0
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A sgI=HH
M HEHEXE
SHelr EXAMASH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 H| 2,000 2,000 0
OFXULD Mot RS AP
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